PITT Qube SU-80V-AAA-2

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/1013:18:15



PITT Qube

SU-80V-AAA-2

No. mE & - HME B Eff iBE
1 011591301  [SU-80VA & FC 1 24,200
2 012208401  [SE-80 #° ¥7° -2 (KOSHINAT") 01%208402: 1 17,200
AY]
3 011279703  [SE-80XMR A75V%" (G-yavh) ADC Y3y b 1 2,400
4 011279901  [SE-80X Fvu4n b7 NBR 1 1,500
5 011807902 [25A 7° 39" 43 2 O|PA-244(4971770-107274)
6 011591401  [SU-80V 1yA°3 FC 1 3,300
7 011591501  [SU-80ViE%&= FC 1 4,400
8 011057005  |SE-80LAtH 75V (PS-7-4-9ayh) ADC Yayh- |1 5,000
PS-KOSHINY
-
9 011058402  [SE-80L-10tH 7509 n° vy CR 1 500
10 011591601  [SU-80V ¥+7}h S45C 1 5,700
11 011591701  [SU-80V/K IR NBR 2 300
12 889955025  |0Yv4° G25 NBR 2 200
13 011759302  [SU-80V V7° -l--& M3 3 1 4,600
B2+M8x
8
14 [888427062 |CTLE Xk wWEH6 2SK |1 300
15 884009071 |[FEi7¥— S45C 1 200
7x7x2 8%
A
16 912506018 [EIVE@HT 6206-2NSE |2 3,200
17 011501601  [OYv4° 1517-51.5 |1 700
NBR
18 (011398901 [OYvy° P74 NBR 1 300
19 743119061 MAN T IE 1 EEE AN AT b MT10X25 M10x25 |3 200
SWRM
20 743119063  [MAN ISR ESERANET W M10X30 M10x30 |4 200
SWRM
21 743119078  [MAN FILREEHEASARIL b M12x30 |4 200
SWRM
22 743119043  [MAN BIERESHEANARIL b M8x16 1 200
SWRM

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1013:18:15




PITT Qube SU-80V-AAA-2
No. TS SREZ G - ME BRI EfM S

23 940019090 F-AN VN ¢ 90 90 3 300

24 011702802 SE-80X hw7°)vh" H3 ABS 1y7° Yy |2 1,900

25 011437502 SE-80X Aw T Y v ABSE 2 0

26 011030105 SE-8OLTTDF=v 7L ABS 2 0

27 011437801 SE-80X h97°Uvh™ ¥ wky NBR.HS65=£5 (2 400

28 011591801 SU-80V Ahzhhy-l TYPEG 1" t33 |1 5,500
Yy h-5 Y

29 011601401 SU-50V 7° -1t Ty y+- ¢ 8.5x31 1 200

31 011801606 SE-80L Ahv-+-43 012712604z |1 0
AYaY

32 889855032 OYvy P32 P32 NBR 2 200

00 011580304 SU-V YY-2" EXGi A5 P18 1 500

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1013:18:15




